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1. Provide the following verbal forms [10 marks]:

a. DY Haf'el, entire paradigm (for the participle, give the active participle only)
b. DY Hitpe‘el, 3" masc. sing. imperfect, infinitive, and masc. sing. participle

2. Describe the three syntagms employed in Biblical Aramaic for indicating the
genitive relation [10 marks].

3. Describe the system of verbal stems (binyanim), including passive formations, in
use in Biblical Aramaic [20 marks].

4. Translate the following passage into English (ketiv forms precede the geri
supralineally) [40 marks] and answer the questions below [20 marks]:

RIYDY TT27 777 RPN IR D PRZY? RIZD TR 1202 DUTYID 13T ¢
RRPD IPPTINN K 10 RTIR 720 ROPH IRTYIY W77 I0R) RIgn My ° 1R
NI NN PODD 7Y RRIT 10 ¢ :PYR? 75N 11N NTIYND PRTD MY
RI7ND PIRRY MDY 7 ONDD AIYN RPN 107 MRTRIN NOIRD RNV 1
RYTY *T NIR YT 1RTIN IR RIYD MY £ 100 NP NITIYY IR RNHN
TN NYTINN K2 RPN T 7 RN 10 RIIR 7T NN 0T 53797 1131 IR
RINY? RITY T TP QTR IDRNY PRINTIN MMM ARMYI 1273 NP 11ONT XD
PIRRY RIPD'DTR WRTYI 707 1Y 10NN MY 7T YTIRY 72 DR RRYD 107
VHWY 27 TR0 T D302 NNNNY 931 RIYD NN T RNUITIY VIR IIRRY
TINRY NVR? ORY N2YNOT ROPM T DTV qUR) DHINDIY HRY Ry MTI NYn
9392 ™2 ONIR RY RIVI'DY 1IN T PR 109 RIPN DT ANMI 7T MR RY
RIIDY NR9Y RNTY ¥ :933 79720 937 NTIINY IR RIY 93¥p) 013 RIoN NIT

:N70pNN? PNIIIN ORAT W 170pINR

Dan. 2:4-13

a. Explain (i.e., account for) the following ketiv-geri pairs: 7°72Y9 (ketiv) vs.
7729 (geri); R*TWIY (Ketiv) vs. IRTYIY (geri); PNINTA (Ketiv) vs. PIMINTIN
(geri).
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Question 4 continued:
Explain the morphology involved in the suffixation of the object to the verb in
the form "1 T7INN.

Explain the nun in the form PTIR).

. Add a 3" masc. sing. suffix to the form 1?INN? and write out the result.

END OF PAPER
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